Batteries and Bulbs Test

Name _______________________________
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Three identical light bulbs are connected as shown in the circuit diagrams below to an identical battery.

1.
In circuit I


a.
How does the brightness of bulb 1 compare to the brightness of bulb 2? ____________________


b.
How does the brightness of bulb 1 compare to the brightness of bulb 3? ____________________


c.
How does the brightness of bulb 2 compare to the brightness of bulb 3? ____________________

2.
In circuit I, what happens to the brightness of bulb 2 and bulb 3 when bulb 1 is unscrewed?


a.
Bulb 2? ___________________________


b.
Bulb 3? ___________________________

3.
In circuit II, what happens to the brightness of bulb 3 when bulb 1 is unscrewed? ___________________

4.
In circuit III, what happens to the brightness of bulb 2 when bulb 1 is unscrewed? __________________

5.
In circuit II, the bulbs are connected to the battery in series or parallel?  ________________________

6.
In circuit II, how does the brightness of bulb 3 compared to the brightness of bulb 1? ________________

7.
In circuit III, the bulbs are connected to the battery in series or parallel? ________________________

8.
In circuit III, how does the brightness of bulb 2 compare to the brightness of bulb 1? ________________

9.
In circuit I and Circuit II, which bulb 1 is brighter? _____________________
10.
In circuit I and Circuit III, which bulb 1 is brighter? _____________________

11.
In circuit I and Circuit III, which bulb 2 is brighter? ______________________

12.
In circuit II and Circuit III, which bulb 3 is brighter? ______________________

13.
How does the brightness of bulb 1 compare in each of the three circuits?


Brightest? _________________   Next Brightest? _________________    Weakest? ________________
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14.
We start with four identical bulbs connected to a battery as shown in the diagram. The battery is strong enough to light all the bulbs.

When all bulbs are screwed into their sockets and glowing, which bulb(s) is/are:


a.
brightest? __________


b.
less dim? __________


c.
even dimmer? _________


d.
dimmest? ____________


When bulb 3 is unscrewed so that it no longer lights in the above situation, what will happen to the brightness of:


a.
bulb 1? _______________


b.
bulb 2? _______________


c.
bulb 3? _______________


Now go back to the initial condition with all four bulbs screwed in and glowing. Connect a wire between points A and B on the diagram. What will happen to the brightness of the four bulbs?


a.
bulb 1? _______________


b.
bulb 2? _______________


c.
bulb 3? _______________


d.
bulb 4? _______________

